Supplementary

Ratio of No vs Yes response to question 2 for high impact variables by country
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Figure S1 The likelihood of a random sample from the survey population responding “No” vs. “Yes” for the most impactful patient features
of the question 2, “Did the doctor provide a personalized treatment plan?”, classification model for the United States, the United Kingdom,
and India, respectively. A likelihood value greater than 1.0 indicates that a patient would be more likely to respond “No”, and vice versa. A
likelihood value equal to 1.0 means that patients are just as likely to reply “No” or “Yes”. Variable values where the significance criteria were

not met have been greyed out.
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